Thursday 23rd April 2020
Lesson 4 EXTENSION: reasoning & problem solving

1. [image: ]Robin has a machine that multiplies numbers by 5. He inserts the numbers below.






Robin thinks the machine is broken and some of the answers are wrong. Do you agree? Explain your answer.

2. Seth is baking cookies for 5 of his friends. He wants to bake them 5 cookies each.
[image: ]How many cookies does he need to bake? Explain your answer. 



3. Danny is planting seeds to grow flowers. He wants to plant 8 seeds into 5 flower boxes.
[image: ]How many seeds with does Danny need? Explain your answer.





4. Bella has pack of 90 chocolate chips to decorate cookies and cupcakes.
[image: ]



The cookies and cupcakes get 5 chips each.
Bella decorates 11 cookies.
How many cupcakes can she decorate with the remaining chocolate chips? Draw out your workings to help you with your answer. 
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8a. Bella has pack of 90 chocolate chips
to decorate cookies and cupcakes.

Cookies and cupcakes get 5 chips each.

Bella decorates 11 cookies.

Chocolate
Chips

How many cupcakes can she decorate
with the remaining chocolate chips?
Explain your answer.
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8b. Oscar has a bag of 75 carrots to share
between the horses and pigs.

All the animals get 5 carrots each.

Oscar feeds 7 horses.

Hh

How many pigs can he feed with the
remaining carrots? Explain your answer.
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5a. Danny is planting seeds to grow
flowers.

Which card cannot be used?

5b. Lisa is sharing out the glue sticks in her
classroom.

There are 6 tables and each table needs
5 glue sticks.

He wants to plant 8 seed:s into 5 flower

boxes.

How many seeds with does Danny need?
Explain your answer.

How many glue sticks will Lisa need?
Explain your answer.
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